Unit 10 Day 4 2020 per8-9.notebook

February 27, 2020

_ Quiz today on Days 1 & 2
Unit10Day 3 HW No Calculator
Start warm-up
1. See graph on next slide 6. (2)
Asymptote x = -1 7. (1)
o 8. (4)
2. 3log x + logy
. o 9.{5}
. 7 loga-lo
z090-7°9 10. {3)
4. 3logx +logy-2logz 11.{2/3)
5. 2logr-logs-1/2logt 12. {1/2)
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Use the laws of logarithms to expand questions 2 - 5.

2. log x3y = 3’03x -+ |OY?«) l-){

J_ \,

3. log? ,OO\O‘\ —IOS}lQ = I/Z_‘O?.)O\‘\Ojb

4 log ZLEY ‘05’X3+ |ocj Y= logzz—- 3\03 ><+|o<33 —2'032

- 3oqr (\Oq5+|oo+ )

Zloar' IOjS— )og'f

5. log

\f
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6. Which of the following is equivalent to log,(9x) 2

(0939+ \095><

(3) 2log, x (4) x+log,2 ’03_3(3 X

3%-9

2
7. The expressionof log;—o is equivalent to

2
(2) 2log x -10 'ng —\03(0

(3) log2x-1 (4) log2x - 10 Z‘ X—l QS O
— 2‘09 x = |
8. If f(x)= logx and g(x)=100x?, then f(g(x))=
_ 3

(1) 100 log x (2) 300 log x = )03 (‘OO)( )
(3) 6+ log x @ "OC}[OOHOT(

= log 0O +3lo X

=2+ 2logX
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9. Solve for x.

(x?

11. Solve for x.

4% =16

4> -

12, Solve for x.

gae-5 _ 1
125

:=2

(25
x:=t5

10. Evaluate logs:27

09,2720 3% 27

$s3

('QJZ'C'"‘ -5 ‘(‘53

X:3
133

4% x-2 x:24 TR

5‘4&-5 . 5-3
4x-5: -3 f '/‘L%
“tx - 2.

X - |/7..
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More Properties of Logs Unit 10 Day 4
l/ ? = 1040
Warm-up ~ {03 K= — loo 1640 P
X)) e a0

The expression ¢f log| 1000 | ¢4h be written in equivalent form as
(2).2log x - 6.

(3) logZx - 3 (4)%2)(-6 S

200

100

dnd log 2 =/q Pher log 200)can be written in terms of pand gas /N
a2 rois Ly
(1) 4p+ /09200 2 (2 2(p+q) 3A)
o @5

3
= 10351*‘/531

= l(dééar-%l{g} 5—1'5_-2'3:3\
=2p+ B@ 572
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More Properties of Logarithms

Jan 20-6:43 PM

More Properties of Logs Unit10 Day 4
Reverse Rules of Logs
loga +logb = ‘bgm'b
loga-logb = \‘bf)%-

n
nloga= J6g &

—Joga- 03 Ok }Osr
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Express as a single logarithm: d;gl\

ot g o b

b — )og%f

1 —
2. Ioga-Elogb: Ioja |63

3. $1og we %fg} by X +la%\_'* = }ojxq%—/og fy-

= /dﬂ){j(y_/\
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S
4. logx®y” —logxy®= IOﬂ %: ),,j;("ﬂl'

/\ /\ \/3 _Lﬂél}

5. loga-1/3logb-1/3logc = ,oga-,w)]’
—_(ogo\ _\%Jf~/%7c: /a/
I 2Ry
= loa 2 _(594 1(1099/""/03
(( _ " \Z‘\?{ :(oga—i(/%%- )
> 5
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Express as a single logarithm. Simplify if possible.

8. log,3+log, 2 = ’03(0(3')'\: ’°f)cé — /

Is-ot):/ngé‘/: 20

9. log,16 +log, 4 = /DﬁgL %‘{__ Y26

11. log, 80 + log, 51.2 = )oﬁ}(‘@'Sl' 2) —‘—}ojgf‘/o%):y

so -
12. log2+log25-logh = /ij( 25) = /%(/5_51 /%/0‘ /

Jan 20-6:19 PM

13. Which of the followiquivalznT to log 362

O{IOQ 2+log18 = ]03(1"%\:‘0? 3,4: @fog 30+log 6 = %C&{”):"ﬂl@
§( 2log 6 = [og) b= bg,% (@) log 4 +log9 = /‘U Y9\
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